b
sl
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Very low frequenaes ‘

:'.-_.',50 Hz | :

ngh frequenmes ., :
.Mlcrowave frequenmes o

{3y

@)

[al]

The current Ig,

(1) Increases with<ncrease in temperature
. Is normally - .greater for silicon
transistor - ‘
{3) Mainly depends on the emitter base
: Junction bias
(4) - D'ependsliargely on the emitter doping

Vl‘l‘he ‘time taken. for -the outprit ‘signal to
rise from 10% to 90% of the input 51gnal is

called

(1) Tr_ans;it_.tim-e '
2) Risetime
Xt tirse
' (4) :'Storage time

The decimal equlvaient of the Hexadecxma] '

EM/592
1. For a PN junction di’ode, the current in | 5.
reverse bias may be
(1) Few ampores
(2)  Between0-5Aand 1A
(3) Few milli amperes
(4)  Few micro or nano arrlp_eres
2. Avalanche breakdown in a- semlconductor
diode occurs when 5
(1) -The pot’en-t__la'l‘ barr@er is redﬁced to
Zero . & =
(2) Forward ' bias  exceeds -a certain {
© value : ' :
(3)  Reverse .- bias exceeds . a certain|.
- value " : 1
(4) Forward current exceeds a certain |
~value - : ' / i :
i
: I -‘number BGC7 is
T TR R ' 41'
3. -AZener dmde 6 < ' RS ) C .) -
(1) - Hasa hlgh forward voltage ratmg 46791
7 ¥ ;-(2).‘ .‘ ‘Has a sharp breakdown at low reverse . 125772
S o : voltage i i :
-3y Can be used as an amphﬁer P
' (4) : '.None ofthe above |8
i A'ﬁunael.diode is used for 1

A
L,

1)

’

S At aUPN Junctlon the potentlal barrier is due
to the charges on cither. 31de of the Junctlon

wluch comusts of

(N :.leed donor and -acceptor_ions '
‘Magonty carners only -
‘Mmorlty carners only -
B‘oth‘majrorlry _.a;nd_ minor_i‘ioy- oarriers .

indiavidva com
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i aﬁ'ectmg the DC response

.

)

[l

the cutput of XNOR
logic gate with input A and B is

Boolean cxpression for

AB'+ A'B
(2)  (AB) + AB
(3 A +B)A+B)
{4) |

A T B)

The Laplace transform of a unit ramp function
starting at't = a, is

4 (sja)2
o '(::-;32 |
@) ";
@ S—';-

The Fourier series.of a odd permdm functmn
: contams only

k Odd harmonics
(2) Even harmonics™
3) Cosine terms ;
“'Sin'e.terms/ :
A Series -LCR . circuit conmstlng of

. R=100Q, | X1|=200, anlec|—~2f)le

E

EM/592 (4)
9. A certain transistor has ag. of 0:38 and| 3.
collector leakage current of 5SpA. If ‘the

Ip =1 mA, the collector current will be
(1) "1-005 mA:
(2) 0985 mA
(3) 0975 mA
(4) 0995 mA
: 14.
-10. The steady state error of a stable type O umty
feedback systcm for a unit step function
- is _ :
(1) 0
1
(2) . >
) I+ K,
(3) oo
1
(4) —
s 1
- ' i
1. A network contains linear resistors and.idé: % of S
voltage sources. If values of-all the. ren:tors ‘1-5_.‘
- are -doubled, then the voltage across each|
re31si.or 18
'-_(1): “Halved
(2) Doubled
3 -Increased by four times
(4) .Not changed
12, In a multlstage R~ C coupled amphf” er the |
. couphng capamtor 24
@ Limits the Iow-ffequencj} resooose
s o(BY o '.leits the high frequency response :
- 3) s Does not aﬁ"ect the frequency reSponse
\' ,(4)',.~.‘-'Blocks' the DC component Wlthout 5 -

' i'ndi avi dvacom

‘-(1)

connected across an AC supply of 200 V rms.
The rms voltage across Bhe capac;tor is /

1200 £-90°V.
(@ 200 2 oy
) 400 £+90°V
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17.

- - and C = 4 pF. The maximum outpdt 'v;oltage

ts. i

@)

19. A

s,

(3) -

@

@ 1

indiavidya.com

A ramp voltag(, w(t) = 100 volts is apphed to

is

(1) 02 volts

(2) 2 volts

(3) 10 volts

(4) 50 volts

The final value theorem is used to find the

Steady state

j%alue
.;output '

of the system

: iﬁitiél rvéi_lu_cdf the system output

-;_-Transxent “behaviour

X _f,m.tput

,_;:.No,nc of the above

AZenerdmdeworkson ,fghe.:prigqiple o

indiavidva com

* of the system _4

““an RC d}ffelentlatmg clrcult with R = 5 kQ|

5]
20. ..

21.

2 5 ‘ : A ., ; “22. :
‘Tunnelingof charge carriers across the{ =

-y

(Al

A BJT is said to be operatmg in the saturatlon
reglon if - '
£
“both the
biased:

1 junctions _are _ reverse

junction is reverse
biascd and base-collector junction is
forward biased

basc-emitter

2

is forward
junction is

base-emitter junction
blased and base-collcctor
‘reverse -biased

3)

(4). both the - junctions are
biased - oY

' fo_rward

The mini_murﬁ"{nui_hbef;- of NAND gates

required to implement the Boolean function
A+ AB' + AB'Cis equal to

Zero

@1

@ 4

4) 7

-_The 31gnal to quantlzatlon ratlo m an n-bit-
;PCM system : '

i .“;employed

-;195',indepen('_lént-lquthe valugofn = - =3

increases with increasing-valueofn i

s

- decreases with increasing valueofn -
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24.

25.

W 2
L 4

(1) jou/o
(2) jwe/o
3)  NGop/ (o + jop)
-.(45 I \]tll/_ﬁ_) e

(1.)_ DC term :
(2)- . Cosine terms
(3) 'Sinp terms
Odd harmonic terms

The ‘I:rlgonometnc Fauner scnes of a permdh, i

ki

(2)* Sine.terms -
(3)': Cosine and. Sine terms . ek
(4) DC and Cdsin_e t-erms )

e antennas are fed with . current. of equal phase A
7 and. ‘magnitude, the number of lobes in. the
;o4 radlatmn pattern in the honzontal p] ane are

indiavidya.com

The intrinsic 1mpedance of a 10‘§qy dielectric
medium

The trigonometric Fourier series of an even
function of time does not have the -
4)

time functqon canhaveonly -~ %

Cosine terms

Two 1sotr0plc antennas are separated by a
distance of two wavelengths If both the

(6)
27.

28.

29.

5

_'30.

@)

In energy band diagram of n

[A]

The input impedance of a short-circuited

lossless transmission line quarter wave Jength

1s

(1)  Purely reactive

(2)  Purely resistive

(3) Infinite-

(4) Dependent on  the characteristic
impedance of the line

The maximum power efficiency of an AM

modulator is

(1)
) 50%
€48 75%
(4)

type semi
conductor, the donor cnergy level is

1) In v:lrlle.nce‘ band

(_2) In conduction ‘b'énd"':- - _

(3)  Slightly above 'valcncg band
 Slightly below conduction Sind

- The dé,plétioﬁ.iayer in a réif’eré_e biased p-n

junction is due to the pFésence of

F v oo
g2t

(1) Eléctfdns
(2)  Holes"
®  Both electronsandholes ok .
) Immobileions

indiavidva com
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EM/592 AT )
31, -Whlch of these has thhly doped P and n 37.- Indi,t:a_'_te. which one of the fotiowi’ng- ty:p_es-. of
region? - \ " noisedoes nof occur in transistors ? .
(1) PIN diode (1)  Shot noise ‘ £
(2) Tunnel Diode _ © (2)  Partition Noise arld 1o T
3 Schottky diode N s (3) Resistance noise :
@ Photo dmde (4)" Flicker noise
32. Whlch of these has serm conductorr— metal o e s o P e
junction ? : 38. A broadcast radio transmitter radiates 20 kW
o PIN dmdc,, | v:rhen the modulation peacentage is.” 60
e - The carrier power will be
€2y _;Photo dmde i 1 2 kW-
-3 3_-__'I‘unne1 dlode ) e
- (4) .'_.'.-Schottk 3-d10de _ @ - 145 kW
o i - 8 ; R BLSE g ¢ (3) 16941{W
'3 Klrchhoﬂ"s 1aw 1s appheable to i w ) () 20 kW
(1) AC c1rcu1ts -only. : 3 -' g | :
('2) DC CerﬂltS only -] 39, __Indlcate the false statement. In case of FM
2(B) AC as. well as DC circuits J  withan increase of modulatmn mdex :
(47 Passlve Networks only s ) The bctal power remams unaffected
34 Foratwo port network to be rec1procai Y '__(2) - The higher order su:le bands- aclueve !
: : S e mgmﬁcant amplltudes : e -
1) 411- Z22 - s
" N _ g _The total power mcreases S
e ) ¥ : (4) X .‘The bandwxdth requlrements mcrease
3"(4":)_-_:_ i {4 ) In’ ‘PCM system 1f W mcrease the ?.r-
T , 4l e '"'_}_‘f.“quantlzatlon levels from 210 _he relatwe
35.° 'The " hetwork function p(s)z.__(itz)___ R bandw:dth reqmrements wﬂl
e (2) -.: remam same 7 _:-; Spgs
RETC betnpled S
| 36 or - the

-";.The complex clrcultry lt requlres T
< '*The 1arger bandwuiths that: are reqmred' ;

indiavidva com
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43

45.

-
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L | 3

(A

- Which one of the followmg s, also called 47. Which of the followmg c1rcu1ts cannot be
‘rat- race’ ? 8 : used to demodulate SSB ?
(1)  E-Plane Tee (1) BFO
(2) - H-Plane Tee (2) Product detector
s F T= ; (3)  Phase discriminator o
o SRR (1)  Balanced demodulator
(4) ° Hybrid Ring - S _
| 48. The noise figure of DSB SC is 1 and for
Whlch one of the followmg c1rcu1ts ¢an be SSB- S 3s :
~used as a high pass: ﬁlter ? 0. 2
< 1y leferentlator (2) 1
@ Integrator i
(3) - Astable ‘ . :
: i (4)  None of the above
(4) Bistable roesi A
! Fidovehin, s p 149, Am plitude limiting is m)i ohphutly neodcd in
The signal to noise ratio of DSB-SC is 53 .
e b B : g Agld SR, L P Slopc detector
AL} =B - S e
s e | (2) -"__Balanccd slope detector b
£2) 2 e ; .
P e AR Ei 4Gy Foster Seeley dlscrlmmator
ey S -
T o e 4) Ratio_dete.ctor-
G - Zero e Al - Tk o
' : 50. A Varactor dwde is used for
:-’The followmg 1s not the drawback of TRF e
it -«:;:recewer By SR ] -(1)'.; ‘;_Tumng _
Ay Instablhty : (2) _-Rectiﬁcatmn »
_ (2)  Poor select1v1ty ‘ ‘ ke '_(3). ' Amphﬁcatmn sk
3) --.Bandw1dth' vana'tidﬁ"l”q R (4) Rectlﬁcatwn and Amphﬁcatmn
) gmrxmage mgnal rEjecitii_)'nj-_" 5 el = e : : LR A
LT : e e - 81, The ermsSmn ofhght m LED IS due to
o «W}uch of the fqllowmg fraquent:les is: hkely to : qEV ,.Emmsmn Of hOIGS
' "_'_:f ;be assoclated w1th AM radm broadcast 2. (2) .'Emlssmn ofelectronsf’f
1000 kHZ . (3) _,,GénErafion L g '_',:‘;._'elé__(';-'tgfbmagneti_é :
o e Rk 'rad1at10ns j , L
(4) Converslon of e‘rgy - into
i 3111um1natmn S i e
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52. - The inverse Fourier transform of the function | 56.
F(m)='—_2— is L
jo -
(1) . Sinot
(2) Cosot.
3) Sgu (t)
(4) U s
53." If f_(t) and F (_j(u).furm a transfofm ‘ﬁair_, fher_L | '
‘as per symmetry in Fourier transforms
(1) “FGt e 2nf-w)
@ FihoniCe)
| 3) F (t) o2 f(w) '
@ F@eon2fCoe)
p - ' 58.

- B,

indiavidya.com

: In tcrms of: ABCD parameters the lmage e
T parameter Zn is equal to

-',ff'{r.""\ .

' AC
1
R )
@ 92
w [

Two phasors havmg rms values V1 and V2 are ;

(74

Vyis maxlmum if phase angle between: Vl and

. Vz 15 L g it
-y g
180°

Ve a phasor hawng rms value Va .-

e T

)

'. Thr» average power of Umt. S'Lep is -

(3

(A

The ‘values of reflection coef«'ﬁcmnt and
VSWR, for an open circuited line; respectively

~are : @
land O
(2) landl
(3 -1 and Inﬁmty
0and0

(4).

Whén signed numbers are used in binaryk

arithmetic, which of the.following has unique
PN eRas

___,_._

representatlon for zero B

(1) Sign magnitude
(2) 1’s Complement
(3) 2's Complement

9's Complement

% W:tt(s)
2{1).. One
e 1
o
Two
“Four .

=

' For a type 1 system and umt; step mput the
e steady state error is . :
; 1 o
S o
e 1
- (3); 13Ky
60 : Alead compensator T _
- (_1) ' Speeds up the transwnt response
. ‘:(2}" _ Increases the stabxhty margm
e : - (3) "Increases the stahlllty margm and
e --speeds up the trans;ent response :
Lo {4)None of the above :

indiavidva com
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Y

)

@)
NG
@)

. '.(.4)-‘ B

@

). (@)
¥

A senes RLC c1rcu1t has R

An RLC series cn'cuxt has R=820, XI

and Xg = 8 Q. Its 1mpedancc is

(1) 8+j16Q
(2) 8+j8Q
3) 8Q
(4 240 |
"An RC scries circuit has R = 20 Q" and -
XC_2OQ then7ls !
(1) 40Q
28-28 0
3) 20Q.
19‘
An mductance havmg XI = 5 Q, and a

capacitance having X{J 5 0, are connected:in .

parallel across 100 v, 50 H? supply The -
current drawn fro*'n source is -

Zero
C20A0
40A -
(4) 2828A

A series RLC circuit has a fese'napt-. frequency
of 1000 Hz. The maximum voltage across C is
hkely to occur at a frequency of about

1000 Hz
2000 Hz
1025 Hz
97 5 Hz

qO07 .Q,

L= 07071—1 ‘and C = 7-07 p.'f' At halfpower

(10)
6L A lead compensatnr is baswally a 66.
- ngh pass filter -
(2 Low pass filter
- (3) Band stop filter
(4) None of the above
62. Principle of superposition is applicable to e
(1) linear systems only - ;
: 2. non-hnear systems only
(3)  both lmear and non—hnear systems :
(4) hnear systems and some non-hnear 3
__systems o '
'63. A wire has resistance R ohms If another wire [ g
" “of 'the same material and same weight has|
double the dla_meter (as cempared.to the first |- .
‘&'f.'ir'e), the resistance of the second wire will be
(1) 05R |
(2 025R .
(3 -0125R
frars o -. py : R,
e ot G o
o "( Lo 16
) ' . .89
fi4‘. In a -purely inductive Cir_euit the current |
- - the voltage by 'y
(1) '[lags 0°
L@ ‘leads, 90°
-.(3) lags, 90°
@ lags 457 - _
_ . 70.
. 65.. A source is dehvermg maximum power to 2
" résistance through a network: The ratlo of =
S "-power dehvered to the source power ey
) Bt alwaysO 1
- (2) may beO 5 or, 1ess"-‘ . .
_ (3_)- may be 0. 5 or 1ess or more ‘
(4), .maﬁ be 0 5 or more - '

@

# _frequenues the circuit 1mpedance is hkely to
© .be

ay -7"-\-97 a
(@) 10Q
@) 14140
@ 200"

indiavidva com
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71.

73.

74.

ey

75.
oo -,:_1000 1001
(2 oirrioor
@ 10()_,0 1111

indiavidya.com

The internal impedance of a source is 3 + j7 Q.

For maximum power transfer, load impedance
should be

(1) 3+j710
(2) 3-37Q
3) 7+j3Q
(4) 7-13Q

The parameter A of a two port network is
equal to ,

(1)

¥
—2 . with I, =0
iyt B

(2 ;"_1 with V, = 0

2

(3) Ly with V5 =0

I
1

@ L with 1,=0

In terms of Z-parameters, the condition for the
network to be passive is :

(D) Zyy =2y

@) Zyy=12y
(3)~ .Zm = 0
(4) Zgy= o_.

The relatwn between . electrlc flux densﬂ:y D :I
and clectric ﬁeld 1nten51ty Eis A i

(1') D._ gE;:. e
. (2) - j-E & EB ; .

Decnnal 46 m excess~3 code T

(11)

76.

1.

8.

79.
Y """_‘-'uscd in opem 100p configuratlon i

Using 2’s complement, the largest positive and
negative numbers which can be stored with
8 bits are

(1) +1287and - 127
(2) +128 and -128
(3) +127 and - 128

(4) +127 and —127

The autocorrelation of a sampling function is

o
5

a

(1) Triahgular'function

'(2) Gate function

(3) = Signum function

(4~ None of the abow;’e-

A generator of 50 Q internal impedance and
operating at 1 GHz feeds a 75 Q load through

a coaxial line of Zy = 50 Q. The VSWR on the

liqeis

(1) 03
. 15
@ 24

In whlch of the followmg c1rcu1ts is Op Amp

X (1) Comparabor et s

. (2) : ‘..--'-,Summmg A.mphﬁer
@
(4) : 'I_Logarxthmw Ampilﬁer ¥

: Integratmg Amphﬁer

indiavidva com
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80.  Which of the following is correct for a BJT ?: 86. . Which of the following can be dccesscd only
‘ 1y ' sequentlally‘? '

1) p=—— o e
1'— a - (1) Floppy disk
T o ' (2) Hard disk
1 L M
| ' (3) Magnetic tape
o :
3 = :
s T e | (4) ROM
4) o= = . By _
1+B _ | 87.  Which of the following amplifiers has a
: e ' ’ 1 voltage gain of less than1?
" 81. ForaBJT,a=098, thenf = - " : 3 ‘
_ " : (1) CE :
(1) 0-02
; (2) CC
(2)y - 05
' 3 CB :
(3) .49 _
: ' {43 CEr)CB
@) 49 .

82. InJK ilip;ﬂop, toggle means
(1) setQ=1and Q' = 0‘ part
A2 setQ=0and @ =1"""",

1 88. Which of the following amphﬁcr% can be ‘used
(or impedance mat.chmg >

e 1) - CB
(3) change the output to the oppomte state (1)
K (.4).‘ no change in output -~ AN @ C_C i
-In_ ‘-a__R-S latch, race condition occurs wher\ 3) CB it
(1) Rislowand Sis high ‘ & e (4) Push Pull

(2) RandS are high
(3) 'RandS are low _‘ 1 - o i
* (4) Rishighand Sislow =~ 89. Costas receiver is used for -

84. In level cli)cking, the outﬁu't can cha‘nge ; (1)  coherent detectmn OfAM_SC 51gnal

A1) on rising edge of clock cycle e wEl (2) asynchronous detectlon of AM SC 51gnal "
) G em falhng edge of clock. cycle i e ol | amplitude modulatlon of 51gnal '
" (3) .during entire half cycle of the clock . 4) frequency modulation of signal

(4) None of the above

85. ;_‘Nmse ﬁgure ofa receiver is gwen by

90, When' modulation " i6déx-pf AM wave is
‘(1) ~The. ratm of mput to. output S1gnal n en modulation  in ex p |

_increased from 0 5 t’o’ 1 thc transmltted

. power. s : : e g
: (2) The ratio of 1npu:t\ to output n01se B it : i O .
' '. 3 'powers e : (1) remains the same - :
_(3)\ - The-ratio of mput to output mgnal to g & “Yackimie by '25 %
: ; _n01se ratio.. ; Balnesd _ ‘
' .(4) . The ratio of output to mput 51gnal toif: . T 49). increases by 33 3% i -
- nmse ratm B il G U ,_mcreases by .JO%

“indiavidva.com
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91. InaAM wave, the carrier and one of the side | 95.
bands is suppressed. If m. = 0-5, the

percentage saving power 1S
(1) © 50%
(2) 83-3%
(3) 94-4%
(4) 100% 8
LEn D
92.. The use of SSB .
(1) halves the bandwidth required: for
transmlssion ¢
2y does not affect the bandmdth for
transmission _ | 98.
(3) decreases the bandwidth: required for
" transmission by 25%
(4) decreases the bandwidth - required for
| transmnssmn by 66-6% o
93. An FM wave is made to pass through -ad. '
frequency tripler. If original modulation ingei _
is myg, the output of a tnpler has a modu lztion :
index equal to : _ @
A mg --
@y g F
el T o
94. An FM s1gnal with dewatwn S is passed
f through mlxer Its frequency is reduced’ ﬁve
. fold. The dovmtlon in out,put of mixer is- Vb
@ 028 i
(2) -_:5
® 55
(4 very very hlgh

indiavidya.com
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~ amplifier,

o
@

S @,

: -A commumcatlon recewer is

Juay

A parabolmd reflector has mouth dlametcr D
.meters, wavelength A meters. Its beam w1dth

¢ is equal to

- 70 A ¢
j_ ¥
(1) D
(2) T_Q_D..
A
X
3 ol S
3 70D
D
4 gt
) 70 A

In a superheterodyne receiver havmg 10 RF
the IF is 455 kf{z
frequency at 1000 kHz is

the image

(1) 1455 kHz
(2) 545 kHz
3 1910KkHz
(4) 90 kHz

Ina radio receiver with a simple AGC

(1) the highest AGC voltage is produced

: ,between statlons

an. 1ncrease in 51gnal strength produce‘
" ‘more AGC ;
'the audio ‘stage gaiﬁ- is’ normall;

controlled by AGC _ '
'_the faster the t.lme constant of AG{

: more accuratfe the output

TRF recewer ot
‘a superheterodyne reoelver
elther (1) or (2)

kne_;th_er -(1)_ no_r 2)
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99. To prevent overloadmg in the last IF amplifier 104. Following distortion occurs in Flat
one should use - sampling.
(1) Variable sensitivity ! : (1) Aliasing effect distortion
(2) Squelch ; ; : (2) Cross over distortion

(3)  Aperture effect distortion
(4 I .

t3) ‘Il)ouble cOnv.ersio‘n

(4) _ Variable selectivity

@E\ < Metcr is used te measure

@ Three point tracking is achieved with (1)  Gain of IF amplifier
(1) ‘Double (;’onvgrsio_n e ; (2)  Gainof RF ar_n'pli.'ﬁer _
(2) Padder capacitor 20 Y (3)  Gain of Audio amplifier
(3) Double spotting o P02 4 (4)  Received signal strength

(4)  Variable selectivity :
. : 106. Impedance inversion may be obtained with

(1) A short—circuited stub

101. ~A 100 +3100 Q is to be matched to a line with (2)  An open-circuited stub
| Zy = 300 Q to give SWR =‘1.IT_he reactance of @ A quarter wave hne
'-stub is (4) A half wave line
1) j2000 N sl
(2) -j200Q "_107; | Electric field .line_s and equipdfential lines
@) 1000 e . Vs >y are always parallel -
@ 5 100(1 T P, ot VA (2)  are always orthogonal

(3) may be paraljll_él":_{___);,‘pr.thogonai

_ (o, o e g " (4) ‘maybe inclirie_d'ai__t_'s_t_ﬁy :in’gi’e
102. A directional coupler is used i '

. (1) to transmit Iﬁiérowave‘sigf}als : gt b 108. If H is magne.tic ﬁeld interisity,-I is curr
(2) to transmit RF si'gneﬂs g L and J is current demlty,
(8) to measure arnphtude and phase of a 1) VH=J '
i travellmg wave Tl @) VxH= J
(4) Both(Dand(® - A8y VxH=1

(4)  None of the above _

103Apm faog oy 2 used o b 109. Which of the followmg antennas is %
() esa Sh‘mt mounted SWltCh f. Iharn o B exc1ted from a wavegmde T

; “..‘.'.'(2) ‘asa senes mounted sw1tch o o v (1) Hellcal e R : i
. . | i ('2)- ‘Dlscune 2 - L : '
ey, 'I‘urnstlle <

(4) i jHorn

& : (3) both as senes or shuht mounted smtch

b 4 None of the above S

S indiavidva com
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110. Top loading is sometimes used wnth an | 118.
antenna in order to i increase its -
1) bandWIdth
(2) bear_n width
(3)  effective height .
(4) input capacitance:
111. A folded dipole normally has an impedance of
- (1), 72 ohms '
(2) 50 ohms e
(3) 288 ohms
(4) 600 ohms
112, For Wthh one of the followmg modes the |

113.

14.

@

15.

ke “w

indiavidya.com

circular waveguide has the hlghest cutoff
wavelength ? i

(1) TE,
(2) T™,,
(3) TE;
4) T™,,
Gunn effect
( ljr ; isa juncti'oﬁ"'é.f:fect
(2)  occurs only in p- type materials
(3) ;rs affected by magnctlc fields
' -(4j : 'occors only mln-type materials -
The hot- electron drode is the same as

(1)' - Gunn diode _
-Schottky Barrier dlode

(3) PINdiode =

@ IMPATTdmdé_ =

-Insert,ron of a dl}eiectrlc mater1a1 between the
plates of an air capacrtor S - :

e

Increases the . capac1tance
(2) Decreases the capacltance
; (3} Has no effect on capamtance

Increases breakdown voltage

{119

| 120.

4

118.

(3

S8 03 1
i 8)

A lead compensator
(1)  Speeds up the transierlt response _
(2) * Increases the stabrlrt{r margm |
| (3) .Increases thc stability margm and
speeds up the transient response
(4) Nonc of the above |
If zeros at infinity are mcluded in the count,

the number of zeros ofG{s) H(s) is

(1)  equal to number of poles

(2)  one more than the number of poles
- @3  one less than the number of poles |

:None of the abave

Which mode is cailed dominant mode in .
fet cangular waveguide ?

(1) TE,,
(2) | TE1,1
@ TEy -
(4) TE,,

In a rectangular wavegulde cutoffwavelength
for ’I‘Em mode is 8 cm. Then cutoﬂ' wavelength

for TEzO mode is

(1)" “8cm
(2) 6cm
- ‘4 cm.
(4) -2cm

In a clrcular wavegmde the do:mnant mode is

- TEor"'_ -
TEu

| - 'TEzo )

o {.) TE21_' .

|nd|aV| dvacom
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121.

122,

123.

@)

124.

indiavidya.com

A duplexer is used to -

(1) couple two antennas to a transmitter
' thhout mterf'erence
(2) isolate Lh(, antenna from -the local
oscillator '
(3) prevent interference between two
antennas connected to receiver
(4) use an antenna for reception  or
transmission without interference . -
- A reflex klystron oscillator uses
(1) - one cavity resonator -
(2)  two _cavity resonators
(3) . three cavity resonators
-(4)  None of the above
An electromechanical closed ioop control
system. has the following - clnractenstlc

equation s3 + 6 Ks2 (K + 2) s + 8 = 0, where ¥
is. the forward gain of _the_ system.
condition for closed loop stability is

(1) K=0-528
2) “K=2 -
(3) K=0

f) K-=2528

In a unifornﬂy doped abrupt p- -n junctioﬁ the
doping level of the n-side is four 4 times the:

| "'dopmg level of the p-s1de The ratlo of the

()

e
O

depletion layer widths is ™

025
©@. 05
10

The |

(16)

()

126.

I'127.

- (2)

{47

W

@)
: 't.(4)
indiavi dvacom

A

Two isotropic antennas are separated by a
If both the
antennas are fed with currents of equal phase
and magnitude, the number of lobkes in the
radiation pattern in the horizontal plane are

Ly -2

distance of two wavelengths.

“
" (8) . 6
(4) 8§

The open-loop transfer ftmctibn of a feedback
control system is G(s) H(s) = - 14s + 1)3. The:

gam margin of the system is

i .2
2y 4
(3)~. 8

16

control

A unity — feedback system- has!
~ the open -loop transfer - function.!
- G(s) = 4 (1 +2s)/s? (5 + 2). If the input-to the,

system is ‘a unit ramp, the steady-state orvm
will be ;

w o
@ 05
3) 2
@)

Infinity

'In a broad fude array of 20 1sotrop1c radlatom
'equally spaced at a dlstance of NZ the beam

WLdth between ﬁrst nul]s is

513 dcgre_% e
(2) 1146 degrees

‘ 2.‘?.-9 &égﬁ‘ées s e '_"-:.; 7 '.: -5

‘102 6 degrees T '
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9.

t31.

132.

P AT 2

133.

""'-___"*T"'

indiavidya.com

In ‘a different amplifier, CMRR can be

improved by using an increased

(1) Emitter resistance

(2) ~ Collector resistance

*(3) Power supply voltages

(4) Source resistance

The logical expression y = A + AB is

equivalent to

(1) y=A
@ .y=AB
3) y=A+B

MOSFET can be used as-a

(1) purreht controlled capacitor

o . voltagé cohtroll__ed capacitor

. (3)  current controlled inductor

(4)  voltage controlled inductor

The ideal ~OP-AMP has the
charactenstlcs ' :

(1) Ry=os, A..oo R =0

2 R =-0, Kmeo, R, =0

. 3) Ri;_oa,_zgzca,_R0= o0

(4) Ri=0,A=w,Ry=c0

Considef--é systemw1ththe tifansfei'_furic_tion :

G(s) ='s + 6/ks? +'s + 6. Its damping ratio will
be 0-5 when the value of k is

(1) - 28
B, 8
3 16 .

RO

(17)

following.

: The cascode : amphﬁer s
_conﬁguratmn of - :

Al

134. - Which. of the following points is not on the

root locus of a system .with the open loop

_ transfer function G(s) =k /(s) (s +‘1) (s+3)7?

(1) s=-jV3
@2 s=-15
(3) s=-3

(4) s=—o0-

3 The marﬂ‘m of system w1th the opcn-loop
transfer function 5

GEHE) = 1-9/(1+9)x2+9)’

s

(1 0°
(2) 634°
(3) © 90°
(4) oo

. If- the differential voltage gain and the
 corataon mode voltage gain of a differential
‘amplifier are 48 dB and 2 dB respectively, -

then its common mode rejection ratio is

) Bes e

CHE - T
(3 46dB :
(4) 50dB

a multistage

(1) CC-CB
@ CE-CB
C. .8y . CB-CC "
i CE-CG. -

The actual gam of a parabohc antenna ‘of
: '_dlameter D = 10 metets can be appmmmated

by G = 2n (d./ A)2. What is the effective
aperture area’ of the antenna ?
w 10m?
(2) 75 m2
@) 50m2
@) 25 w2

indiavidva com
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139. The Poyliting vector is ‘associated with 145. VSWR is defined as the ratio of
(1) Flux in magnetic field : Pl T e
(2) - Power flow in electro-static field '
' (2) Viax/ Via

(3) " Current in electro-static ﬁela |
g BV e+ Vi N 2

' (4) ' Charge in electro-static ﬁeld' : _
: s ' (4. V + Vini
140. The construction of synchro-transmitter is 5
(1)  Similar to three pha%e transforrﬁer

' (2): _Slmllar to that of a three pha‘se @ The PWM needs |
induction motor " (1) * more power than PPM

(3) Similar te that of a three phase (2) more samples per se_colnd than PPM
- BiSGHRISE - | 3 morebandwidth than PPM '
_.(4) None of thg above __ . o None of e aliove
141. The root- loci -of a _systeni has three ‘ I

asymptotes. The system can have 147. The PAM 51gnal can‘be detectcd by

) Thres goldeoitisiny shoin ndlomtade e
: 0 . Ver okt ¢ @:} ; (1) band pass filter
(2) Four poles and one zero ¥ ; : 5

; : ' (2)  band stop filter

& 'hlgh pass filter
(4) low pass filter

(3) Five poles and two zerdé
{4) All ofthe above

142, In FM sqund broadcasting system, the

{
: " . . v ; )
maximum frequency deviation is usually :

1) 15kHz e : 1.48'. Qﬁantization error_acg.ur.t.;‘}'n
(2) 75 kHz e < 1 @ PoMm
(3) .200kHz , I @ PPM

4 52MHz - SR e | 3 .pm _

143. -‘25 complement of bmary number 0101 . & None.[)fthe abov_e'-i

(1) 1011 W i -'ﬁ-_: e _ A

_ (2) ~1111 ! ' \-_0 } O'. £ 149.“Compandi'ng’-i.s 'use'dih PCM to.
o i ' e TR g gy L radvine beadwidth. i
@ 1110 LR e _ reduce bandwidth.

_ e oTS (2) redqu power
In a mult1-cav1ty magnetron strappmg is| (3) i arosen SN ratm

loyed ily - (e
» SHLPYe pnmarl Y C4) get almost umform S/N ratm

A1y, “to. prevent mode j Jumpmg

.(2). to decrease the. separatmn between the 1'150. Whlch of the followmg gives mmm

' reszlnan; frequenmdes in j:he n.mode arlld = : probablhty of error ?,

kLS -in‘the a Jacent modes : S (D, ASK :
(@ to reduce the back heatmg of the ik (2) . FSK -
- (4) .-to increase the output of the magnetron oo 4)  DPSK

i ndl a\7| dvacom



